Determine the forces and torques acting at the shoulder that produced the given kinematics.  In doing so, you will also have to calculate the forces and torques acting at the elbow first.  Before doing that you must determine the linear accelerations of the center of masses of each segment using the kinematic constraint equations that I’ve attached below.  For this problem, ignore gravity.
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	Variable
	Value

	(1
	3

	(1
	10

	r1
	0.5

	r2
	0.5

	L1
	r1 + r2

	m1
	5

	I1cm
	2

	Variable
	Value

	(2
	2

	(2
	-3

	r3
	0.5

	r4
	0.5

	L2
	r3 + r4

	m2
	5

	I2cm
	2


ax1 = 
- 1*r1*sin(1) - 12*r1*cos(1)
ay1 = 
  1*r1*cos(1) - 12*r1*sin(1)

ax2 = 
- 1*L1*sin(1) - 12*L1*cos(1)
          
- 2*r3*sin(2) - 22*r3*cos(2)
ay2 = 
   1*L1*cos(1) - 12*L1*sin(1)

         
+ 2*r3*cos(2) - 22*r3*sin(2)
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